R 6 =#k TRhiRIL AL LEHE)I B TE GHOFRERE) THEEEREE

TFE - AR - A0 Btk HAL E6 s fii &
ELPE T GERE 2
1. BHET
(DT
IE¥ELT K 1. 000
PEH (D) HE + m3 125. 000
Al GEA) #CA 1B m3 96. 000
FHEIRHERER - SRR SRR | Y i 57. 000
(2)I{Z AT
1)z 7 Y—rHIET = 1.000
ary J— L (RE) BB18-8-40 W/C=60% m3 153. 000
FIE i m3 153. 000
IR () Z?)(?)}azgolnm 5. Smm % A 3. 000
TR T (AEE) nf 109. 000
lZ v it nf 66. 500
TR T (oK) nf 2.700
ACEFTHE H #5155 ¢ 22mm EN 113. 000
Xyv bUtr—7 m 48. 000
2)HEE L = 1. 000
arzY—~ (M BB18-8-40 W/C=60% m3 7.900
P (AIRE) nf 27.300
(3) VM LAY Bk & T
1) 8B4 R T = 1. 000
F— LT L— b (TW3=0hR A ARl ?%)(*ﬁgggggocmx L34 1..000
2) RigER L v 1. 000
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R 6 = TFEHIRIL  BA L LETHE)I

B TH (HOFREfr ) THREERIEE

TFE - AR - A0 Btk HAL E6 s fii &
REAT v 7 300X 19 N 35. 000
(4) SPEAMIET.

1) R (e /%) INEFBAAR 20 1. 000
v/ X iR MBS 10cm EN 1. 000
v/x fRERA MBS 16cm EN 1. 000
v X iR MBS 18cm EN 3.000
% iR M B 21cm A 3. 000
b iR M@ B 22cm A 2. 000
v/ X iR MBS 23cm EN 1. 000
vx iR MR ER:  24cm EN 1. 000
% iR fa B 25cm A 2. 000
% iR M@ B 26cm A 3. 000
b iR M@ B 27cm A 3. 000
bk iR M@ B 28cm A 3. 000
% iR B 29cm A 1. 000
bk iR fa @B 30cm A 2. 000
% iR M@ B 3lem A 3. 000
vx iR MBS 32cm EN 1. 000
bk iR fa B 35cm A 1. 000
% iR fa B 36cm A 1. 000
vx iR MBS 38cm EN 1. 000
v/ X iR MBS 42cm EN 1. 000

2) Bty GHEA) INEFIAR 2V 1. 000
MEAR tRAY M B 17cm EN 1. 000

3) ARHRAL B =X 1. 000
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R 6 =#k TRhiRIL AL LEHE)I B TE GHOFRERE) THEEEREE

THE - FER - AR Btk HAL E6 s fii &
VAR ¢ AR m3 11. 000
B IE FRER m3 11. 000
2. &L
(1) g T
1) ez L K 1. 000
=TT L— B R #* 1. 000
VA F R AR - 5% 1. 000
TR - ik * 1. 000
TR - ik * 1. 000
2) (KT K 1. 000
PEKEHEE - = ¢ 300mm m 40. 000
3) THEPEKRT K 1. 000
Rt 5 THRUE - GiE 4% 10. 000
REAO 5 THE £ 10. 000
wet
1. B4t
(1) %t
1) &t E20 1. 000
MR E =% 1. 000
S B F LI = 1. 000
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